$2INOD - 12 Auon - 0€/L0
$2dNOD - vZ Arpuon - oe/L0
SYOdIND - 90 Anpuoy - 08/L0
B49dWO - 99 Anuon - 0e/L0
¥2dWNOD - 2 Aauon - 0e/L0
¥2dINOD - ¥Z Ao - 0€/L0
$2dN0D - 2 Anqiow - 0e/L0

Y2ANOD - b2 100M A19n3 Sy - L0/20

PedINOD - ¥2 Anpuon - 0e/L0

0 Bw-gL X ATIVQ uow bey

Vbw- 8l

0 Bn-gz
Ven-gz

98l

XW AVG 0L
(:x4

0 UBW-6L X ANV uow bey

VBw- 81

9

0 VBw- 61 DAV ATIM Uow bey

VW -84

Ssy

0 WBw-BL XYW ATiva uow bay

$2dWOD - 2 ArpUO - 0E/LO 6w - 1 (378
¥2dNOD - ¥Z ANAUOW - 0E/LO 0 Bw-8L XW ANVQ uow bey
$2dN0D - vZ Aquo - 0e/L0 bw - g1 (24}
YZAINOD - $Z Yeom Aien3 ol - 2020 0 vbw-glL XW ATVQ 26'0
$ZINOD - 2 9OM 19 SE] - L0/ED b - 81 800
QLOTVO - VO $08M A18AZ 83ImL - L0720 0 bw-gi OAV TION §'21
QLOTYD-VO  %99M Jod Sauu - 20/E0 VBw - g1 [
$2dINOD - 2 %H00M A1org soimL - 20720 0 bu-g
$2INOD - ¥Z  %9OM Jed ee] - L0/E0 VBw -8y
PZANOD - vZ 300M K1eA3 GO - 20/20 0 yBw-gL DAV ADIM S
$ZANOD - vZ  ¥OOM B BB - L0/E0 B - 6L 9
VMO - MO eSM Jed BN - WSO 0 ns-zi XVIN LSNHS
a0 - 40 Atea - Lo/o ns-zi S
$2dINOD - 12 Apieom - 2010 0 vBw-6L
$ZINOD - ¥Z  ¥8M Jd SauL - 20/£0 VB - 64
$2INOD - 12 Apisem - 2010 o Bw-g OAY ATHM S¥
$ZANOD -2  ¥99M Jod easL - Z0/E0 VB - g} €
QLOTVD-VYD  e6M Jed oM - HASO [ %- €2 AV M NW 08
QLOTVD-VO  Yespm Aiead XIS - 20/80 %- €2 26
SVHO-ND  390M Jod oA - WSO 0 w-gi
GVHO -9 yeom AIeA3 XIS - £0/90 W - 8}
$2dNOD - 2 ANGUOW - 0E/L0 owo/ywn- Ll XW ATIVQ Yo boy
$ZdNOD - 2 ANRUON - 0EN0 wojoyuin - 4} 9596
=N £ onjwA
odij edweg  siskuy jo Aousnbeiy 'x3jo ¥
0¥8S-891-80C

DAV OW U boy
= o8l =

= OAV O 0L =
= (X3 =

DAV O Uow bay
= g9 =

DAY Ol uop bey
= (X4

DAY OW uop by
= el =

DAV OW Uo bey
=

L
=  OAVOWIE} =
= 500 =
=
DAV O Uopy bay
281 =
= DAV OW 0¢ =
= v =
=>
DAV OW UoW bey
902
=> DAV ON 0F =>
= € =
=< NNAVOWO08 =<
= 68
DAV OW uoyy bay
o786
cieyent  zemEA  Zieyend
uopERUsILeD 10 AjjienD
:suoydeje] _

p/al- 9z XNAUVOSL = OAVON S
Pl - g2 eL20 = €20
P - 92 XN ATV BEL = OAV OW L8}
Pl -92 98 = v's
PAI-82 DAV TIOM 6292 =
Pl -92 [3:14 =
PAI-9Z DAV ADIM 5529 => DAV OW E0SH
Pfal-92 829 = 1314
NIW LSNI §'9 =<
TL =
PIGI-8Z DAV ATHM S50 => DAV OW p0Sty
P/l - 82 69¢ = o£e
NIiN LSNI 9 =<
eLL =
b eNEA | JoyjEnD ]un TanEp Z Joyjiend b enjeA
Bujpeo 10 Rpuenp
uepusjupedng

100N enfup
“bey yuey

GON sniep
=>"bay Juiag

= ojdweg |
|GON enfep

‘boy yuueyg

IQON enfep

“bey jused

IGON enjuA
"bey Juuad

1GON sneA
“bay juusy
odweg
1GON enfep
=>"bey juusgd
= sjdweg
IQON enjep
‘bey juuing

1GON onep
‘bey yuusg

ouieg |

1QON snjeA

=>'bey uuey

= sjdweg
1QON onjep
*hey juuieg

oyduteg
HaON enjEA
“bey yuwieq

| eydweg
1aoN snjEA

=>'bey jueg

= ojdweg
IQON *njEp

"bey jjuiey

sichueg
IJON enieA
“hey unieg

ojchueg
1GON enEA

.wux—_E.-cm,

oL

0

0

0

SOWLIOD 908 - o

suewWoD 89S - O

SjusuRLOD 89S - d

0 wenyu; ebemes mey -

0

0

0

SSID JUSY3 - |

8S0ID ueNY3 - |

S ueny3 - |

Suewwod eeg - 0

0 juenyu) eBameg mey - ©

)]

]

8801 JuSNY3 - |

Suswiwog 8eg - d

0 Jusnyu) ebemes mey - ©

0

0

o

)

8809 SNz - |

ssIp ueny3 - |

Ssoipjueny3 - |

SBWIWOD 898 - d

1QON "wesed § uosesg  uoyesoT Bupojuop

UBULIBWWZ
maspuy

{0080 s8] [e10} ‘sseupien 00600

1qer0ssIP ‘Po8 R8eM ‘8piued BLL00

[0 s8] oueBio panossip ‘woqseD | 8900

[d 58] =109 ‘sniondeoyd 58900

IN =2} 1213 o1 + SUTIN 0£200

IN s8] 18303 ‘ieptefy ‘ueBasN 52800

IN s8] 12307 euowwe ‘uaBoniN 01,900

Pepuedsns 1810} 'SPHOS 0£500

Pepuedsns (810} ‘SPHOS 0ES00

Papuedsns |8j0) ‘spijos 0E500

Hd 00v00

0 'Bop 02 ‘Aep- 'G0O8 0L£00

9 "Bop 0z ‘Aep-5 ‘GOE 0L€00

uope:mes jusased panjossip ‘ueBAXD 10£00

[0l pesossip ‘ueBAXO 00E00

Aiaonpusd 18000

swey
Isjewesey

°poD

:IQON wio4

(IGON) 4103821pu] E1EQ ON
:aueN jse7

:oweN 18114

4821410 eApnaexg edjupy

snioydsoyd anjoBe. 8jqnjos ‘Juenya=S '€'8'| Hed JuLed uj uojduosep ejeLRy fin Juenyy3=Y ‘sainpesaid Buliduies 10} g'F’} Hed Hued 88 ‘usny3=D) ‘Aep ewes ey uo Pe128y|00 8q o} sejdwies Joj gL eto ‘|, 8jqe . 88 JuenyI=d ‘syuwj| ‘BAs Bufljol uow  YuenI=0

PSIEPHEA HINGION

8028-289€8 QI 'VdWVYN
L33¥1S avON VY LS3IM OPE

dLMM VdINYN - 40 ALIO ‘VdINWN

ssmas |

:uopeson Ayyjjoey
:Kynoed

LL102I01 :e18Q 8nQ NWQ _
861 uejpy|
v-100 :efieyss|g
LPL1289€8 Ol ‘VINVYN
13341S AVOUTIVY LS3M OvE 1$SOJPPY 98]3|ULIg
40 ALID 'VdAWN eapjuLad

Z1/0£/60 ©3 21/10/60 woiy

leing |ewepg
100

8O\
€90zzooal

0 Lo 104 ]
:poped Bupojuon
smejs g ssjeq Hoday

:aimeed peyjuiied
ofepy

#uuag
Jyuuey

p1023y jo Adod ¥INa



£+ 8

2
88 KR8 &R

33

QO - £0 XW ATIVQ uow by

(00:20- :8uoz Bwill) 6Z:EL 6L-0L-L10Z
sn'edwsujokdDeusuuewiunz
ueuwewwz  Apuy

BUBULIBWW Z

(00:£0- ‘ooz Bwil) 6Z:EL 6E-0L-LL0C
snedwewoApPeueuLswngz
usuwBwiwz  Apuy

euBULBWWYZ

owen

3 10 19GUINN ‘SHUN :MO1 18U} 40} PSHILGNS © 1 SPiel BuIMO0) 8y Jo Buou uey) ‘Bujpes ) jusny)3 Jou sdweS sy J0; senjeA Aue UIEIICO J0u S80p MOJ isjoweied 8 Jy

1GON ®hieA

“bay juuey i
opdueg

IOON enzp

“hey jjuisey i
ojchueg

IGON enjeA

"oy juued -
sjdweg

IGON eniep

DAV OW uop bey “bey juuey e

0 VBW-8i DAV ADIM UoW bey

0
56024 = ojdweg
1GON snEA
“boy yuusy B
sidwes
IQON sniwA
“bey juniey = 0
sidweg
IGON sn1sA
‘bey junsg = 0
sdweg |

0

Ag poubys )seq podey

Ag poaes jseq podey
90pidesiouoiieuetdx3ise | epUBADAVMEL-0L-L102
8ix'/1028quiedessS1 Buliioy

juswyoeye ees ‘ewp Bujpioy Jeye ues epuekd Qvm

0 feAowey Jusdied - 3 18AOUIR) JUGDI8d POpUSTSNS 'SPHOS |LOLB

0 |8Aowey Jusaleg - ) tenowa, Jueased ‘Asp-g ‘a0E 01018
0 uenyu) eBemes mey - © (B s8] 10} ‘Ainoseyy 0081 L

jueld WaugBes N 10 YNPUC Ul MO} 0S005

SBWILIOD 80 - Y (ENSIA-LUO} BIQISIA IO GlEEM ‘SPiOS Bueo)d £LogY

[d se enoee] snioydsoyd 291 p0



(00:£0- :ouoz awn1) gE:EL 6L-0L-LLOZ ‘sw|1/e1eq
sn°edweujoAio@euruLBWwiwiZ lew-3
uveusewwiz  Apuy ‘oweN
BUBULIBWWIZ :esn
£g peubys }se poday
(00:£0- ‘euoz awi]) 9£:80 6L-0L-LL0Z w1 eleq
sn-edweujofyo@ezauew few-3
Zaupeyy  opueuuy ‘aweN
ezauipew uasn
40 ALID ‘VdWYN
4g peaes jseq podey
25€9¢ six s|x L L0zsequierdesbuipeojsuuojyn
f1°74:1% xsjx Xs|x' £ 0zsoquisjdeg
oz1g edAL ourN
SjuauyoenYy
Suawwon
‘S10lie oN
$40413 %2049 }p3
‘adA ] sidwies pue ‘sisA| 10 A: 14 ‘SUOK 3 JO I3quINN ‘SN Mol 1By} Joj peniuigns eq |im spiay Buimoijo) ey} Jo suou uay ‘Bujpel] usnyg Jou ejdwes ey 10} sanjeA Aue ulEjUOD JoU Seop Mol Jsjeweied & |
8JON uoIssjuqng
IGON ®OfEA

SVHO - HO YeOM Jod BAId - MMISO 0 Vbn-gz XN ATV 00L = AV OW 004 = P/AI - 92 XW ATIVA SL => OAV OW SL =>bay juuey o 0  ssoi9ueny3- | [ENp{se [€10] ‘BULIOIYD 09005

a9 - 49 Aea - Lo/Lo BN - gz [ > [0 > P/AI- 92 0 0 = idweg

IGON iiep

VYO -HO ¥9OM Jod BNl - HM/SO 00 60p - p0 X AVQ UOW bay OAV ATIM UOW bay ‘bey jjutiog - 0 0 068 - d ‘Bop Jejem ' 101000

VYD - HO ¥eom Asend xis - 20/90 9 6ep- o >4 = 4 = sidweg
sjun € snjep £ Jsgjend T ANEA 2 Joiyieny | enfeA | seiiend  sjjun TONEA  Zioyiend | enjep | Jeyjenty sueN opog

2dA) sdures sisAieuy jo Aousnbeid ’x3 jo # uojienUSIUCY 10 AEnD Bujpeo so Apueng 1OON ‘uiRiey § UosLeg UoREd0T
= ‘IQON w04
(1aON) 101894pU] EBIEQ ON
ueuueww|z :BweN jser
0¥85-89t-802 :euoyde|e) _ juspusjuuedng opIL melpuy oWeN 3sdi4
493110 eAfN2eX3 [edidulig
sainpesoud Buyidwes 1oy || 8jou ‘| ejge] quenyI=d
dwoy w04 104 suoje. 0
PeIEplieA NIWAION a:.sw_ L1I0ZI0L :ejeq eng ¥Wa _ LLIOE/60 O3 L1L/L0/60 Woay :poped Bupiojuop
snjejs 9 sejeq podey
eau) uejpuj 1IEANO [ewselxg
a-100 :aBieyosiq 100 ‘aimjeay peyjuiiod
8028-289€8 Al ‘'VdNVYN LpL1289€8 Al ‘VdNYN

13341S QvOuTIVY 1S3aM 0t iuopeaa Ayjpoey 133¥1S AVOHTIVY LSIM OvE :882.ppY d8y|Wwiad S8A -dofep
dLMM VdINYN - 40 ALID 'VdWVYN RSTTTELE] 40 ALID ‘VdWYN ‘e9gjjulieg £8022000i “# Yuied
Hwieg

p1023Yy jo AdoD JyNQa






